Respiratory System Pretest

Name___________________________________

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.

1) Which of the following organs is not part of the lower respiratory system?
1) _______

A) alveoli

B) bronchi

C) larynx

D) trachea

E) oropharynx

2) Air entering the body is filtered, warmed, and humidified by the  
2) _______

A) upper respiratory tract.  

B) lower respiratory tract.  

C) bronchioles.  

D) lungs.  

E) alveoli.  

3) The respiratory epithelium of the conducting airways consists of  
3) _______

A) moist cuboidal epithelium.  

B) simple squamous epithelium. 

C) ciliated squamous epithelium.  

D) pseudostratified ciliated columnar epithelium.  

E) surfactant cells.  

4) The larynx, trachea, bronchi, and bronchioles all make up the  
4) _______

A) upper respiratory tract.  

B) respiratory mucosa.  

C) internal respiratory tract.  

D) alveoli of the respiratory tract.  

E) lower respiratory tract.  

5) The respiratory defense system is important because it  
5) _______

A) helps warm the air.  

B) helps filter the air.  

C) keeps out debris.  

D) keeps out pathogens.  

E) all of the above  

6) The openings to the nostrils are the  
6) _______

A) nasal apertures.  

B) vestibules.  

C) internal nares.  

D) conchae.  

E) external nares.  

7) The portion of the pharynx that receives both air and food is the  
7) _______

A) laryngopharynx.  

B) aeropharynx.  

C) internal pharynx.  

D) nasopharynx.  

E) oropharynx.  

8) The common passageway shared by the respiratory and digestive systems is the  
8) _______

A) vestibule.  

B) glottis.  

C) pharynx.  

D) larynx.  

E) trachea.  

9) The auditory tubes open into the   
9) _______

A) laryngopharynx.  

B) larynx.  

C) nasal cavity.  

D) oropharynx.  

E) nasopharynx.  

10) The palatine tonsils lie in the walls of the  
10) ______

A) nasal cavity.  

B) laryngopharynx.  

C) nasopharynx.  

D) oropharynx.  

E) larynx.  

11) Components of the upper respiratory system include all of the following, except the
11) ______

A) nasal cavity.

B) nose.

C) pharynx.

D) lips.

E) paranasal sinuses.

12) The nasal cavity is separated from the oral cavity by the
12) ______

A) cribriform plate.

B) internal nares.

C) hard palate.

D) pharyngeal septum.

E) soft palate.

13) The ________ is shared by the respiratory and digestive systems.  
13) ______

A) windpipe  

B) right mainstem bronchus  

C) esophagus  

D) pharynx  

E) trachea  

14) The nasopharynx is divided from the rest of the pharynx by the 
14) ______

A) internal nares.

B) cribriform plate.

C) hard palate.

D) soft palate.

E) pharyngeal septum.

15) Which of the following is not true about the pharynx?
15) ______

A) laryngopharynx ends at esophagus opening

B) shared by the integumentary and respiratory systems

C) nasopharynx is superior

D) solids, liquids, and gases pass through

E) oropharynx connects to oral cavity

16) Inhaling through the nostrils is preferred over the mouth because 
16) ______

A) it allows better conditioning of the inhaled air.  

B) it combines olfaction with respiration.  

C) it dries out the mouth.  

D) less resistance to flow.  

E) bacteria won't be inhaled from the oral cavity.  
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Figure 21-1 The Upper Airways

Use Figure 21-1 to answer the following questions:
17) What is the function of the structure labeled "8"?  
17) ______

A) prevents food from entering the larynx

B) causes air to swirl within the respiratory passageway  

C) prevents food from entering the pharynx  

D) acts like a supplementary air pump  

E) forces air into the lungs  

18) Identify the structure labeled "7."  
18) ______

A) oropharynx  

B) esophagus  

C) glottis  

D) laryngopharynx  

E) internal nares  

19) Which structure vibrates to produce sound?  
19) ______

A) 11  
B) 10  
C) 19  
D) 5  
E) 8  

20) What is the function of the structures labeled "12"?  
20) ______

A) improve warming of incoming air  

B) create narrow passages  

C) cause air to swirl within the respiratory passageway  

D) help olfaction  

E) all of the above  

21) Identify the structure labeled "2."  
21) ______

A) olfactory organ  

B) nasal sinus  

C) nasopharynx  

D) internal nares  

E) oropharynx  

22) The glottis is  
22) ______

A) a flap of elastic cartilage.  

B) part of the hard palate.  

C) the soft tissue that hangs off the end of the soft palate.  

D) the opening to the pharynx.  

E) the opening to the larynx.  

23) The vocal folds are located within the  
23) ______

A) bronchi.  

B) larynx.  

C) trachea.  

D) nasopharynx.  

E) oropharynx.  

24) The elastic cartilage that covers the opening to the larynx during swallowing is the 
24) ______

A) thyroid cartilage. 

B) cuneiform cartilage.

C) cricoid cartilage.

D) epiglottis.  

E) corniculate cartilage.

25) The largest cartilage of the larynx is the ________ cartilage.  
25) ______

A) arytenoid  

B) cricoid  

C) cuneiform  

D) thyroid  

E) epiglottic  

26) The ring-shaped cartilage just inferior to the thyroid cartilage is the ________ cartilage.  
26) ______

A) cuneiform  

B) arytenoid  

C) cricoid  

D) epiglottis  

E) corniculate  

27) The thyroid cartilage is attached to the cricoid cartilage by the
27) ______

A) cricothyroid ligament.  

B) intrinsic laryngeal muscles.  

C) intrinsic ligaments.  

D) extrinsic ligaments.  

E) vestibular folds.  

28) The laryngeal cartilage not composed of hyaline cartilage is the   
28) ______

A) cricoid.  

B) arytenoid.  

C) thyroid.  

D) corniculate.  

E) epiglottis.

29) Which of the following statements about the trachea is false?  
29) ______

A) is lined by pseudostratified ciliated columnar epithelium  

B) is reinforced with C-shaped cartilages  

C) is reinforced with D-shaped cartilages

D) alters its diameter in response to the autonomic nervous system  

E) contains many mucous glands  

30) The airway that connects the larynx to the bronchial tree is the
30) ______

A) alveolar duct.  

B) trachea.  

C) laryngopharynx.  

D) bronchus.  

E) bronchiole.  

31) They branch from the trachea at the carina.
31) ______

A) primary bronchi  

B) alveolar ducts  

C) secondary bronchi  

D) terminal bronchioles 

E) tertiary bronchi  

32) The C shape of the tracheal cartilages is important because  
32) ______

A) large masses of air can pass through the trachea.  

B) large masses of food can pass through the esophagus during swallowing.  

C) it facilitates turning of the head.  

D) A, B, and C  

E) A and B only  

33) Primary bronchi are to ________ as secondary bronchi are to ________.  
33) ______

A) extrapulmonary bronchi; intrapulmonary bronchi  

B) intrapulmonary bronchi; lobar bronchi  

C) lobar bronchi; intrapulmonary bronchi  

D) all of the above  

E) none of the above  

34) Secondary bronchi supply air to the  
34) ______

A) lungs.  

B) lobes of the lungs.  

C) alveolar ducts.  

D) lobules of the lungs.  

E) alveoli.  

35) The actual sites of gas exchange within the lungs are  
35) ______

A) terminal bronchioles.  

B) alveoli.  

C) bronchioles.  

D) pleural spaces.  

E) interlobular septa.  

36) The respiratory membrane of the gas exchange surfaces consists of  
36) ______

A) ciliated squamous epithelium.  

B) simple squamous epithelium.  

C) surfactant cells.  

D) pseudostratified ciliated columnar epithelium.  

E) moist cuboidal epithelium.  

37) Which respiratory organ has a cardiac notch?
37) ______

A) right primary bronchus

B) left lung

C) right lung

D) left primary bronchus

E) both B and D

38) The right lung is to ________ as the left lung is to ________.  
38) ______

A) two lobes; three lobes  

B) two lobes; two lobes  

C) three lobes; two lobes  

D) three lobes; three lobes  

E) none of the above  

39) Which is greater?  
39) ______

A) the number of lobes in the left lung 

B) the number of lobes in the right lung  

C) Neither—the number of lobes is usually equal.

40) Damage to the type II pneumocytes of the lungs would result in  
40) ______

A) a loss of surfactant.  

B) an increased rate of gas exchange.  

C) increased surface tension in the alveoli 

D) increased tendency to alveolar collapse.  

E) A, C, and D

41) The following is a list of some airways.

1. secondary bronchus

2. bronchioles

3. alveolar ducts

4. primary bronchus

5. respiratory bronchiole

6. alveoli

7. terminal bronchiole

The order in which air passes through is  
41) ______

A) 1, 4, 2, 7, 5, 3, 6.  

B) 2, 4, 1, 7, 5, 3, 6.  

C) 4, 1, 2, 7, 5, 3, 6.  

D) 4, 1, 2, 5, 7, 3, 6.  

E) 1, 4, 2, 5, 7, 3, 6.  

42) The most superior portion of the lung is termed the
42) ______

A) epipleurium.

B) cardiac notch.

C) base.

D) hilus.

E) apex.

43) Collectively, the layers through which the respiratory gases diffuse are known as the
43) ______

A) Type I epithelium.

B) pleural-basement membrane.

C) macrophages-basement membrane.

D) alveolar-capillary membrane.

E) pulmonary-basement membrane.

44) The process by which dissolved gases are exchanged between the blood and interstitial fluids is  
44) ______

A) breathing.  

B) cellular respiration.  

C) internal respiration.  

D) pulmonary ventilation.  

E) external respiration.  

45) External respiration involves the  
45) ______

A) movement of air into and out of the lungs.  

B) utilization of oxygen by tissues to support metabolism.  

C) diffusion of gases between the alveoli and the circulating blood.  

D) exchange of dissolved gases between the blood and the interstitial fluid.  

E) binding of oxygen by hemoglobin.  

46) Expiratory movements are produced by contraction of the ________ muscle(s).  
46) ______

A) diaphragm  

B) external intercostal  

C) serratus anterior  

D) internal intercostal  

E) scalene  

47) When the diaphragm and external intercostal muscles contract,  
47) ______

A) the volume of the thorax increases.  

B) the lungs shrink.  

C) the volume of the thorax decreases.  

D) expiration occurs.  

E) the volume of the lungs decreases.  

48) Which of these descriptions best matches the term external intercostal?
48) ______

A) primary muscle of inspiration

B) accessory muscle of inspiration

C) contraction increases airway resistance

D) accessory muscle of expiration

E) affects lung compliance

49) Pulmonary ventilation refers to the  
49) ______

A) utilization of oxygen.  

B) movement of dissolved gases from the blood to the interstitial space.  

C) movement of dissolved gases from the interstitial space to the cells.  

D) movement of air into and out of the lungs.  

E) movement of dissolved gases from the alveoli to the blood.  

50) Alveolar ventilation refers to the  
50) ______

A) movement of air into and out of the lungs.  

B) movement of dissolved gases from the blood to the alveoli.  

C) utilization of oxygen by alveolar cells to support metabolism.  

D) movement of air into and out of the alveoli.  

E) movement of dissolved gases from the alveoli to the blood.  

51) Which of the following muscles might be recruited to increase inspired volume? 
51) ______

A) serratus anterior

B) scalenes

C) sternocleidomastoid  

D) pectoralis minor 

E) all of the above  
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Figure 21-2 Mechanics of Ventilation

Use Figure 21-2 to answer the following questions:

52) Which muscle(s) produce(s) the movement labeled "1"?  
52) ______

A) internal intercostals  

B) rectus abdominis  

C) external intercostals  

D) diaphragm  

E) both A and C  

53) Which muscle(s) contract(s) to cause the movement indicated by the arrows  labeled "6" and "7"?  
53) ______

A) rectus abdominis  

B) internal intercostals  

C) diaphragm  

D) external intercostals  

E) both A and B  

54) Most of the oxygen transported by the blood is  
54) ______

A) bound to the same protein as carbon dioxide.  

B) bound to hemoglobin.  

C) carried by white blood cells.  

D) in ionic form as solute in the plasma.  

E) dissolved in plasma.  

55) The most important chemical regulator of respiration is  
55) ______

A) hemoglobin.  

B) oxygen.  

C) sodium ion.  

D) bicarbonate ion.  

E) carbon dioxide.  

SHORT ANSWER.  Write the word or phrase that best completes each statement or answers the question.

56) The _________________________ extends from the sixth cervical vertebra to the fifth thoracic vertebra.
56)  _____________

57) Gas exchange between air and circulating blood takes place within _________________________.
57)  _____________

58) Internal respiration refers to exchange of oxygen and carbon dioxide between the _________________________ and the _________________________.  
58)  _____________

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.
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Figure 22.1 

Use the diagram above to answer the following questions.

59) Identify the letter that indicates structures that assist in filtering, heating, and humidifying inspired air.
59) ______

A) A
B) B
C) C
D) D
E) E

60) Identify the letter that indicates a muscular tube that serves as a common passageway for food and air.
60) ______

A) A
B) B
C) C
D) D
E) E

61) Identify the letter that indicates a flexible tube that has C-shaped cartilaginous rings that keep it from collapsing.
61) ______

A) A
B) B
C) C
D) D
E) E

62) Identify the letter that indicates the opening of the pharyngotympanic tube.
62) ______

A) A
B) B
C) C
D) D
E) E

63) Identify the letter that indicates the uvula.
63) ______

A) A
B) B
C) C
D) D
E) E
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Figure 22.2 
Use the diagram above to answer the following questions.

64) Identify the letter that indicates Ciliated cells in this layer transport mucus laden with dust, bacteria, pollen, and viruses towards the pharynx.
64) ______

A) A
B) B
C) C
D) D
E) E

65) Identify the letter that indicates the fibromusculocartilaginous layer with hyaline cartilaginous rings that allow the trachea to bend and elongate but not collapse.
65) ______

A) A
B) B
C) C
D) D
E) E

66) Identify the letter that indicates the trachealis muscle.
66) ______

A) A
B) B
C) C
D) D
E) E

67) Identify the letter that indicates the soft wall of the trachea allows the esophagus to expand anteriorly.
67) ______

A) A
B) B
C) C
D) D
E) E

68) Identify the letter that indicates a muscular tube that propels swallowed food to the stomach.
68) ______

A) A
B) B
C) C
D) D
E) E
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Figure 22.3 

Use the diagram above to answer the following questions.

69) Identify the letter that indicates the cartilage that has a laryngeal prominence that is also known as the "Adam's apple."
69) ______

A) A
B) B
C) C
D) D
E) E

70) Identify the letter that indicates the vocal fold, or true vocal cord.
70) ______

A) A
B) B
C) C
D) D
E) E

71) Identify the letter that indicates the cartilage that folds over the opening of the larynx—the glottis. The function of this cartilage is to prevent aspiration of foods and liquids into the lower respiratory tubes.
71) ______

A) A
B) B
C) C
D) D
E) E

72) Identify the letter that indicates the vestibular fold, or false vocal cord.
72) ______

A) A
B) B
C) C
D) D
E) E

73) Identify the letter that indicates the cartilage that anchors the vocal cords posteriorly.
73) ______

A) A
B) B
C) C
D) D
E) E

74) The smallest airway of the bronchial tree that is primarily responsible for creating bronchoconstriction.
74) ______

A) lobe of lung

B) bronchiopulmonary segment

C) primary bronchi

D) alveoli sac

E) bronchiole

75) Alveolar cells that allow rapid diffusion of respiratory gases.
75) ______

A) Type I

B) Type II

C) alveolar macrophages

D) pseudostratiied columnar epithelial cells

E) endothelial cells

76) The serous membrane lining of the wall of the thoracic cavity.
76) ______

A) mucous membrane

B) parietal pericardium

C) visceral pleura

D) parietal pleura

E) visceral pericardium

77) The region of the lung served by secondary, or lobar, bronchi.
77) ______

A) bronchopulmonary segment

B) lingular

C) cardiac notch

D) lobule

E) lobe

78) Fluid that reduces surface tension of the alveolar walls.
78) ______

A) lysozyme

B) mucin

C) pleural fluid

D) serous fluid

E) surfactant

79) The medial opening between the vocal folds through which air passes.
79) ______

A) thyrohyoid membrane

B) vestibule

C) rima glottidis

D) cricothyroid ligament

E) glottis

80) Specific location within the lungs where gas exchange occurs.
80) ______

A) alveoli

B) bronchopulmonary segments

C) carina

D) respiratory membrane

E) terminal bronchioles

81) Fissure separating the upper and middle lobes of the right lung.
81) ______

A) carina
B) inferior
C) superior
D) horizontal
E) oblique

82) Which cells produce surfactant?
82) ______

A) Type I cells
B) Type II cells

C) alveolar macrophages
D) chondrocytes

83) Which structure is not located within the nasopharynx?
83) ______

A) pharyngeal tonsil
B) tubal tonsil

C) opening of the pharyngotympanic tube
D) palatine tonsil

84) When the diaphragm contracts, the size of the thoracic cavity ________, the pressure inside the thoracic cavity ________, and air flows ________ the lungs.
84) ______

A) decreases; drops; out of
B) decreases; rises; into

C) increases; drops; out of
D) increases; drops; into

85) Which muscle contracts during forced expiration?
85) ______

A) serratus anterior
B) internal oblique

C) pectoralis major
D) sternocleidomastoid

86) Sympathetic stimulation of terminal bronchioles causes
86) ______

A) secretion of less surfactant.

B) bronchodilation.

C) bronchoconstriction.

D) a decrease in blood supply to the bronchioles.

87) The left lung
87) ______

A) has three lobes.

B) has a cardiac notch.

C) receives oxygenated blood from the heart via the left pulmonary artery.

D) is supplied entirely by a secondary bronchus.

88) The detergent-like molecule that keeps the alveoli from collapsing between breaths is called
88) ______

A) oxygen.
B) surfactant.
C) bile.
D) hemoglobin.

89) The passageway between the nasopharynx and the middle ear is the
89) ______

A) mastoid sinus.
B) pharyngotympanic tube.

C) oval window.
D) internal acoustic meatus.

90) What type of epithelium occurs in the respiratory mucosa?
90) ______

A) simple columnar epithelium

B) stratified squamous epithelium

C) simple squamous epithelium

D) pseudostratified ciliated columnar epithelium

91) Some bronchi have names such as the "right upper-lobe bronchus," "left lower-lobe bronchus," and "right middle-lobe bronchus." These are ________ bronchi.
91) ______

A) primary
B) secondary

C) tertiary
D) very small (about fifteenth-order)

92) The correct definition of bronchopulmonary segments is
92) ______

A) parts of the lung that are supplied by a single tertiary bronchus (and its branches).

B) parts of the lung that are easy to remove during surgery.

C) parts of the lungs that are separated by the oblique and horizontal fissures.

D) arbitrary subdivisions of a lung, about as large as a fist (0.3 liter).

93) The ________ flaps over the glottis when we swallow food.
93) ______

A) vocal fold
B) palate
C) epiglottis
D) uvula

94) Most foreign substances in inspired air fail to reach the lungs because of the
94) ______

A) porous structure of the nasal conchae.

B) ciliated epithelium and mucus that line the respiratory passages.

C) abundant blood supply to the nasal mucosa.

D) action of the epiglottis.

95) Of the following, which is the only organ that is not an upper respiratory structure? (Hint: Recall Figure 22.3.)
95) ______

A) oropharynx
B) nasal cavity

C) larynx
D) vestibule of the nose

96) The pharyngeal tonsil is
96) ______

A) synonymous with the adenoids in the roof of the nasopharynx.

B) scattered throughout the pharynx.

C) in the fauces.

D) the largest tonsil.

97) Supportive cartilage disappears from the bronchial tree at the level of the
97) ______

A) bronchioles.
B) alveolar duct.

C) respiratory bronchiole.
D) lobar bronchi.

98) The lobes of a lung are easy to recognize and distinguish from one another because
98) ______

A) they are separated by fissures.

B) each is supplied by a primary bronchus, and the primary bronchi are easy to find.

C) they all have slightly different colors.

D) carbon from the air accumulates between and outlines the lobes in most people (even if they breathe almost-unpolluted air).

99) The space between the right and left vocal folds is called the
99) ______

A) rima glottidis.
B) vestibule.
C) cricoid.
D) laryngeal inlet.

100) It is easy to see on the outer surface of a smoker's lung hexagons approximately the size of the tip of a little finger and clearly outlined by black lines of carbon. These structures are
100) _____

A) lobules.
B) lobes.

C) bronchopulmonary segments.
D) bronchioles.

101) Which muscle is used for both quiet inspiration and forced expiration?
101) _____

A) latissimus dorsi
B) internal intercostals

C) scalenes
D) external intercostals

102) The lungs are located in the
102) _____

A) abdominopelvic cavity.
B) thoracic cavity.

C) mediastinum.
D) pleura.

SHORT ANSWER.  Write the word or phrase that best completes each statement or answers the question.
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103) Identify the highlighted structure.
103)  ____________
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104) The highlighted structure is made of what type of cartilage?
104)  ____________
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105) Identify the highlighted structure.
105)  ____________
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106) Identify the highlighted structure.
106)  ____________
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107) Identify the highlighted structure.
107)  ____________
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108) Identify the highlighted structure.
108)  ____________
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109) Identify the highlighted structure.
109)  ____________
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110) Identify the highlighted structure.
110)  ____________
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111) Identify the highlighted structure.
111)  ____________
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112) Identify the highlighted space.
112)  ____________
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113) The highlighted space is lined with what type of epithelium?
113)  ____________
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114) Identify the highlighted structure.
114)  ____________
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115) Identify the highlighted structure.
115)  ____________
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116) The highlighted structure is defined as serving a single ________ segment.
116)  ____________
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117) Identify the highlighted structure of the lung.
117)  ____________
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118) Identify the highlighted structure.
118)  ____________
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119) Identify the highlighted structure.
119)  ____________
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120) Identify the highlighted structure.
120)  ____________

MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question.
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121) Which structures are highlighted?
121) _____

A) alveoli
B) pulmonary capillaries

C) pulmonary arterioles
D) bronchioles
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122) Which cartilage is highlighted?
122) _____

A) thyroid
B) corniculate
C) cricoid
D) arytenoid
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123) Which structure is highlighted?
123) _____

A) cricothyroid muscle
B) thyrohyoid muscle

C) thyrohyoid ligament
D) cricothyroid ligament
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124) The highlighted structure is composed of what type of cartilage?
124) _____

A) elastic
B) It is not composed of cartilage.

C) fibrocartilage
D) hyaline
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125) Which fissure is highlighted?
125) _____

A) horizontal
B) oblique
C) transverse
D) straight
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126) Which lobe is highlighted?
126) _____

A) middle
B) superior
C) inferior
D) quadrate
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127) Which structure is highlighted?
127) _____

A) superior meatus
B) superior concha

C) middle meatus
D) inferior meatus
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128) Which structure is highlighted?
128) _____

A) oropharynx
B) esophagus

C) larynx
D) laryngopharynx
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129) Which structure is highlighted?
129) _____

A) lingual tonsil
B) pharyngeal tonsil

C) vocal fold
D) palatine tonsil
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130) Which lobe of the lung is highlighted?
130) _____

A) middle
B) inferior
C) caudate
D) superior
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131) What type of epithelium lines the highlighted space?
131) _____

A) keratinized stratified squamous
B) simple columnar

C) ciliated pseudostratified columnar
D) simple squamous
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132) Which fissure is highlighted?
132) _____

A) horizontal
B) vertical
C) longitudinal
D) oblique
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133) Which structure is highlighted?
133) _____

A) rima glottidis
B) epiglottis
C) vocal fold
D) vestibular fold
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134) Which structure is highlighted?
134) _____

A) hard palate
B) palatine tonsil
C) tongue
D) soft palate
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135) Which structure is highlighted?
135) _____

A) sphenoidal sinus
B) frontal sinus

C) ethmoidal air cells
D) maxillary sinus
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136) The highlighted structure is a component of which bone?
136) _____

A) frontal
B) ethmoid
C) maxillary
D) sphenoid
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137) Which structure is highlighted?
137) _____

A) inferior meatus
B) middle meatus

C) pharyngeal recess
D) superior meatus
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138) Which two structures are connected by the highlighted muscle?
138) _____

A) cricoid cartilage and thyroid cartilage
B) cricoid cartilage and hyoid bone

C) epiglottis and hyoid bone
D) thyroid cartilage and hyoid bone
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139) The highlighted cartilage is just one of how many pieces of cartilage that make up the larynx?
139) _____

A) five
B) nine
C) three
D) seven
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140) Which cartilage is highlighted?
140) _____

A) cricoid
B) arytenoid
C) thyroid
D) tracheal
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141) Which structure is highlighted?
141) _____

A) vestibular fold
B) cricoid cartilage

C) epiglottis
D) vocal fold
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